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ECONOMICS — MINOR
Paper : MN-2
(Macroeconomics - 1)

Full Marks : 75

Candidates are required to give their answers in their own words

as far as practicable.

TR Feefr ST W
e -3

S| (F-(@Iar wEife 2vdas Ted e ¢

)
)
(o)
()
(%)
®)
(2)
(&)
@
(1)

®)

TG Ee R -9 A S |

BRI WY FIS I ?
AT FETCS J @R ?
gifearoisl e@erel F ¢
qF 29 FICFE e ¢
fage =< (Broad Money
fafmzner @eme F @ e

) T T 2

I ATGH o FITE I ¢

TH O Ol FIE A 7

TErEfe FIEF A2
‘O -437 e I e

A

A BTG NS (@I @UE GRS I 7

efifeTrelst 2aee 0.5 20a, [Rfame earzs v« o

ol ©T ‘- T e

THFING FITE A0 2

K0

Please Turn Over



[B(zmzSm.)-Ecanomfc.s-HM\'-Z/CCf] (2)

fTerst - 2
(F- (A NG 275a Te WG | ax@

o1 S sl org ez ermfb @ |

8| WIEg gerare’ 4l e e |

@) @A weeifors sde FEe § Fie

Y| A TTG TR € N TanFeid QFenfs ey |
Q| EAT AT WSl ¢ R BET N0 F=AFH v 0|
v freafier s s g=e st st |

5| e BT I I 2 @3 g’ ez i

ey - o
- feafs «7eg Tag me |

Yo| WRE-A Ged BIF A (AT ©0G SITAN] The W Sreid Feifae znr e @3 waml T el

SIS 3% ? b4
53| Fage R g3z Tge e e havwe ape s | JEate difes SeAmaRerel Ji e by
2 RS @ @ e 8ag We 303, ©f SIEb 0> so
soI FTalel @ SesAmiag gt ogfh e S0 | o

381 vifewgfaaive ardfe ¢ agfaeite qurdifes s sidmafa anan s | o



(3

)

[ English Version ]

@( 2nd Sm.)-Economics-H/MN-2/CC, F]

The figures in the margin indicate full marks.

Group

1. Answer any fen questions :

(a)
(b)
(c)
(d)
(e)
(f)
(g)
(h)
(1)
)
(k)
M
(m)
(n)
(0)

Define Gross National Product.

What is “Transfer Income’?

What is meant by depreciation?

What is ‘marginal propensity to consume’?
What is ‘Bank Rate’?

What is meant by ‘Broad Money’?

What is meant by investment?

What is ‘Balanced Budget Multiplier’?
What is ‘High Powered’ money?

Define Inflation.

State Say’s Law of market.

- A

What is the shape of aggregate demand curve in the classical model?

If marginal propensity to consume is 0.5, what will be the value of investment multiplier?

What is meant by ‘full employment” in the classical model?

What is stagflation?

Group

-B

Answer any five questions.

2x10

2. Discuss what precautions should be taken for measuring national income in the census of production
method.

3. Write the ‘Fisher’s version” of quantity theory of money.

4. Explain the concept of “circular flow” of income with diagram.

5. What ar¢ the functions ol moncy in an economy?

6. [Lxplain the concept of wage price [lexibility in the classical model.

7. Explain the relation between marginal efficiency of capital and interest rate.

8. Explain the concept of “Paradox of Thrilt".

9. Explain the concept of *Inflation Gap’ with diagram.
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10.

11.

12.
13.

14.

Group - C

Answer any three questions.

How equilibrium national income is determined in the simple Keynesian model through income expenditure
method? Is this equilibrium a stable equilibrium situation? 8+2

Explain the concept of autonomous investment and induced investment with the help of diagram. What

is marginal productivity of capital? 8+2
Discuss the factors which determine investment. 10
Explain how employment and output is determind in the classical model. 10

Explain the differences between Demand-pull inflation and Cost-push inflation. 10



